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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-16_0
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P3-16
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07:45 124 150.0 (=] 1{Bi%e07:45 KmEF (GHEAERKSE)
08:15 124 150.0 Be| 1Ri%@08:15 KREFEF (KFEZRE)
08:45 124 150.0 Be| {Ri%@08:45 RHIFEF (KAEZER)
09:20 124 150.0 (=] 1{Bi%e09:20 KEEF (FHAERKSE)
09:55 124 150.0 (2 =| {Ri%&e09:55 KEFEF (KRR
10:30 124 150.0 |Z=| 1Ri%010:30 KREIEF (REAEESE)
11:00 124 150.0 (Z=| {Ri&e11:00 KEIEF (RAEESE)
11:30 124 150.0 (& =| {Ri&e11:30 KHEF (RFAKESE)
12:00 124 150.0 |Z=| 1Rig012:00 KREFEHF (REAEESE)
12:30 124 150.0 (B =| {Ri&e12:30 KEIEF (RAEESE)
13:00 124 150.0 FA| {Ri%@13:00 KREIEF (RAERSE)
13:35 124 150.0 PR {Ri%@13:35 KREIEF (KRATREES)
14:05 124 150.0 FA| 1Bige14:05 REFEF (REAERES)
14:35 124 150.0 FA| 1RiR@14:35 REFEF (REERES)
15:10 124 150.0 (B =| {Ri&e15:10 KHEF (RFAKESE)
15:45 124 150.0 | =| 1BRiB015:45 KRHEIEF (REAEEE)
16:30 124 150.0 (2 =| {Ri%e16:30 KEHEF (GRAEESE)
249t 2232.0 (18%) 2700. 0 3ESHKEC: 2080.0, PH: 6.0

unusual large postFgEt from yesterday (479), set to 450.0 ml.
[BI/&EC 6722.0 K75, EIMARECAEA&IMIEE R
BE[ERECE (2227.0 vs 6722.0) 535




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=57 (2025-05-27)

1.0
0.5 1 (Y VO.FRV,ET = VI, VO, FVI, VO, FRV, adjFRV, ET 1go0 1827 2000
0'6 1438 - 1500
0.4 L 1000
0.2 - - 500
160 | Warning: col [FVI', "FVO'] missing 2000
808_ 0]
T v
11 ) Sl
100 -
50 -
1.0
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6
0.4
0.2
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6
0.4
0.2
0.0 |
600 1 Bylnit! @D60 01:47: ET=2211 Fg=3000. 0 Ro=856.0 4000
1
I - 3000
400 - :
] - 2000
i 1
200 : L 1000
'_. |'
0 o—la 0
1 2 4 15 T6 [ 7 [8 o dofii[i2]i8 45 16178192 [2f [22 28],
60012 |B=| B | B | W | % | % | 0 | B | i | m5 | B | #E | 5 | B8 | W& | A5 | B | #E | m& | BR | BE | M | B
1
ByEt @D57 19:07: ET=2146 Fg=2700.0 Ro=nan J ° - 3000
400
- 2000
200 L 1000
b o -o -
0 V= Fa V- N 0
o | T 123|456 7 [8[9 T io]ir[T2]i8] 4157617181920 [2f [2 23],
GO EF N EF R EF R EF R E R E A E A E AN R ERA EA EA EA N RN R E A E A E A E A E A EFAES B 5
1
ByWon:@DGO 01:47: ET=1827 Fg=2700.0 Ro=715.0 - 3000
400_ 1
] - 2000
i 1
200 : L 1000
b o e & o &
1.0 o la - NN 0
0] 1] 2] 3| 4| 5] 6] 7] 81 9 1011 1213141516 ]17] 18] 19]2 ] 21]22] 23
0 1BE|BZ 2712718715252 182| B (22221221221 B | B 5215232222221 % | & | &
0.6
0.4
0.2
|
| _obs
PPFD_obs

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



hour

_. a A a A e a
O b~ W W NN = O O ©

© 00 N N O ©O O O

§_

100

80

- 60

- 40



P3-16

RriE) | BRI (D) | EHME (EAH/K) | XK SRR

07:15 163 150.0 Be| BRi%@07:15 RHEFEF (KAEZRE)
07:50 163 150.0 Be| {Ri%@07:50 REFEF (KEAEZRER)
08:25 163 150.0 B[ 1Ri%e08:25 KEEF (KPHEEE)
09:00 163 150.0 RS 1Ri%@09:00 RHEIEF (KREERE)
09:45 163 150.0 Be| 1{Ri%@09:45 RHIFEF (KFAEZER)
10:20 163 150.0 (=] 1{Bi%e10:20 KHEF (FHAERKSE)
10:55 163 150.0 (2 =| {Ri&e10:55 KHEF (RFAEESE)
11:30 163 150.0 Be| 1BRi%011:30 RHEF (KAEZRRE)
12:05 163 150.0 RE| 1Ri%e12:05 REEF (KEAEESE)
12:40 163 150. 0 B (Rige12:40 REHPEF (KAZESE)
13:15 163 150.0 Be| BRi%013:15 RHEF (KAEZRE)
13:50 163 150.0 B5| {RiZ013:50 KENFEF (RAA1EREE)
14:35 163 150.0 R5| 1Rige14:35 KRHERF RAEHS)
15:30 163 150.0 Be| 1Ri%@15:30 REEF (KAEZRE)
21t 2282.0 (14)%) 2100.0 3EGHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (391:62.0), set to 391 ml.

[BI/ZEC 6128.0 K75, EIMARECAEA&IMIEE R
1Bl RECE (2220.0 vs 6128.0) 3/




P3-16_0, Day=56 (2025-05-26)
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